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o1 = Ni¢g = N1LoIy (3.1)

Cdpy o, dl I
Vi=N 7 = NiLg 7 =1L i (3.2)
Ly = N2L, (3.3)
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d¢1 Il dIl
— KNy— = KN\ NyLy— = M—* A
Vé 2 dt 14V2 Odt dt (3 )
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M = KN{N, L (3.5)
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$2 = Nopg = NoLoly (3.6)
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s dl, dl,

= Ny—= = N2Ly—= = Ly— .
Vo 2 2lo— 2 (3.7)
Ly = N2L, (3.8)
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Vi = Li—t+M=—2
(3.12)
Vo = tM=—1 4 L,—2

00000000 (coupling coefficient) k00000000000

P (3.13)
vV LiLoy '
0 (3.3)0(3.5)0 (3.8)0 0
KN{NyLg

=120 _ g
VN?LoN2L,

(3.14)
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dl dl
Vo= gyt M
d; d; (3.15)
Vo = M-t L,—2=271I
2 dt+ 2 1o
Oo0oooogoooggno
Vi = JwLili + jwMI,
(3.16)
‘/2 = jwMIl+ij212:ZLIQ
ooooooouooootono zz0ooooad
‘/1 ) w2M2
7= — = jwl + ——— 3.17
L e 1+JWL2—ZL (8.17)
ooouoo+MOO0OO0OO0O —MOOOOOO ZzzOO0O0OO
D(3.17)DZL—>OODDDD
Z; = jwly (3.18)

000000000 0000000000000 0 (magnetizing inductance) 0 0 0 O
00 Z,—00000
2

Jw 1( TiLy

00 c0000000000 (leakage inductance) 00 0000000000000 O0O0OO0
ObOoboboobobooboo0obooobu0obuoub k=10000000=00000

) = jwLy(1— k) = juwo (3.19)
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3.2 UOO0OO

0 (3.12)00000000000000

Vi = JwLi F jwMlI,
(3.20)
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I, = + V, + 227
1 ]WM 2 M 2
O0000000Ek=10000000000 L,0L, —oco0000
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M Lo
(3.22)

Ly Ly
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! M2 L °
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00000000000000000000 (ideal transformer) 10000 (3.23)00
Vily = Vol (3.24)
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Vo = Zi1y (3.25)
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0 3.7.00000
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Vi=4+—27;1 3.26
=zl (3.26)
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I =+—1I 3.27
(=22 (3.27)
ddooon ,
Vi Ny
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z (N) . (3.28)
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00000000000000000000000000000000000000000
0000000000000 .00000000000 39000000000000
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o=1L(1-k? (3.29)

000000000 0D0D0D000000000000 L,00000
L,=1L—0=Fk1IL (3.30)
00000000000 000000000000000000 L,O00000ooooo

Ly = n’L, = n?k*L, (3.31)

1 Ly Lo
TN T M (3:32)
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I =
t Ro+ Rp + j(Xo + X1)

(3.33)
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Vi|?
1R = ’ s 3.34
L] (Ro+ Rp)? + (Xo + X.)? (3.34)
000O00R, 00000000000
Ry |V, |?
P =R = |Vi| (3.35)

(Ro+ Rp)?>+ (Xo+ X1)?

Oooooooooooobooobo0obR U0 X, 0000000000000R, 0 X 0O
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3.5.1 ROX 00000000000

O (3.35) 00000
XLopt - _XO (336)

gbbobuoogbobboooobbbooooboo
R opt = Ry (3.37)
000000000000 (conjugate matching) 000 000000000000 O0OOOOOO

Vi|?
Pmaar: =
4R,

(3.38)

3.5.2 X;/R,=0000000000
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(3.39)
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n n

(3.40)
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Ubdn0O000O00O0O00

RL|V,|?
P LIVl (3.41)
E(Rg + X2) +n2(R2 + X2) + 2(Ro Ry, + XoX1)
POOODOOOOOODOOOOAO000000000000000000
2
—ﬁgu%—+xﬁ)+2n(R%+<X§):() (3.42)
o (R XE) =n* (R34 X3 (3.43)
00000000 00D0O00O000
n?|Zi| = 2] (3.44)
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Ry = |Z| (3.45)
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